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Κ1

X = 218428.08

Y = 4405059.76

Κ2

V = 30.00 km/h

X = 218416.50

Y = 4405084.01

γ

= 295.522°

R = 15.00

φ

= 2.853°

ΧΘΔ = 26.87

ΚΔ = 0.00

ΑΑ' = 0.75

ΩΩ' = 0.75

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.37 KA' = 0.37

Κ3

V = 30.00 km/h

X = 218402.72

Y = 4405109.53

γ

= 298.374°

R = 15.00

φ

= 2.509°

ΧΘΔ = 55.88

ΚΔ = 0.00

ΑΑ' = 0.66

ΩΩ' = 0.66

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.33 KA' = 0.33

Κ4

V = 30.00 km/h

X = 218360.51

Y = 4405180.11

γ

= 300.883°

R = 15.00

φ

= 2.408°

ΧΘΔ = 138.12

ΚΔ = 0.00

ΑΑ' = 0.63

ΩΩ' = 0.63

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.32 KA' = 0.32

Κ5

V = 30.00 km/h

X = 218329.64

Y = 4405237.01

γ

= 298.475°

R = 15.00

φ

= 0.930°

ΧΘΔ = 202.86

ΚΔ = 0.00

ΑΑ' = 0.24

ΩΩ' = 0.24

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.12 KA' = 0.12

Κ6

V = 30.00 km/h

X = 218263.47

Y = 4405354.43

γ

= 299.404°

R = 15.00

φ

= 0.084°

ΧΘΔ = 337.63

ΚΔ = 0.00

ΑΑ' = 0.02

ΩΩ' = 0.02

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.01 KA' = 0.01

Κ7

V = 30.00 km/h

X = 218155.40

Y = 4405545.53

γ

= 299.488°

R = 15.00

φ

= 0.105°

ΧΘΔ = 557.18

ΚΔ = 0.00

ΑΑ' = 0.03

ΩΩ' = 0.03

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.01 KA' = 0.01

Κ8

V = 30.00 km/h

X = 218057.23

Y = 4405718.38

γ

= 299.594°

R = 15.00

φ

= 4.583°

ΧΘΔ = 755.96

ΚΔ = 0.01

ΑΑ' = 1.20

ΩΩ' = 1.20

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.60 KA' = 0.60

Κ9

V = 30.00 km/h

X = 218047.53

Y = 4405739.19

γ

= 295.011°

R = 15.00

φ

= 5.209°

ΧΘΔ = 778.92

ΚΔ = 0.02

ΑΑ' = 1.36

ΩΩ' = 1.36

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.68 KA' = 0.68

Κ10

V = 30.00 km/h

X = 218033.24

Y = 4405763.72

γ

= 300.220°

R = 15.00

φ

= 0.489°

ΧΘΔ = 807.31

ΚΔ = 0.00

ΑΑ' = 0.13

ΩΩ' = 0.13

R1 = 30.00 R2 = 30.00

φ1

= 0.000°

φ2

= 0.000°

ε1 = 0.00 ε2 = 0.00

L1 = 0.00 L2 = 0.00

ΚΑ = 0.06 KA' = 0.06

Κ11

X = 218013.97

Y = 4405796.16
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